KCC Lﬁg% ES% (LE? KP140HS series

e

3 ut3 Maig

KP140HS series

— Y4z
BAZ|E
E2Z2|
=

o
27 212
o R HHEMRIH(RFE) YL L
° 142kgfic;m‘%0|0=l W& @32 ol M @125 72| e /mec
S ZtsefH . KP140H
o U3 ARG e, ST Y G AE2 0
Z|MeiLct, ‘EEI‘
o 23t 20|7} Z2Ho] Z0|LCt HOF E2 KP210H
KP140HS-SD80-540 KP140HS LA50-S30N SUOME F2/Ql0] H2|FH4 UGLICH =S/¥2E
KPC70/140H
ALV KPC210H
KTC70HP
KP140HS - J(sp (40 - s(ao)( J[ ) ) S
KP140HS
@® @ ©® @ ® ®
HTC
= Al SHA
@ Al2|= ©® g2 dd (mm) KP125/160A
Al2|2 5 S AHE Y RE BEHY Bl
KP140HS HELEY 2 032 5
KP140HS W Y=g = 240 KP35R
Xoi3 DaT 450 5,10, 15, 20, 25,
KP140HS HL _—I(—JHETZT e 140 kgf/crf o63 30, 35, 40, 45, 50
e SUS 100
2902 B2t 280 KH
KP140HS HL W (p2E) 5100
0125
s A2 SAO T2 2B BER A0 FAA|L,
| x 2T S 2ilote 2= AEHIELC
@ MZAE x BEU0 31510] W12 RR51D USLICE (LA EEY, 42
715 RE! x ZZHHAR|2H(55, 60, 65..)2 5, 10, 20m AH[0|AZ H0f A|2HE L |CH,
27|15 LIEY RYEH(EF)
1 LEZ 18 ® MTHLEAL
2 =412 215 ZEYULIAL (BF)
N ZEALIA}
D RREARR FF
@ TR A A ERE] o 24y 24
D =3 772 D-Z72K Y59A D-Y59AK
A 227t yot BES 773 D-Z73K Y7PK D-Y7PK
776 D-776K Y598 D-Y59BK
780 D-Z80K
782 D-Z82K
x 2902 22kado| AEE L
OE=CINE:| s MM IS 2 [10]-13,22 PAGES 23 SHIAIS.
FHBA CENE
32 @30 REARR| £F
40 B40 275 274
50 @50 S 124
63 063 N N7 (N:3,4,5..)
80 080 % QEASIZ| 287t ARt s
100 @100
125 3125

www.kccpr.com - 77



KCC Co., Ltd.

KP140HS series

A O AAE S (F)
2] HFS{ Al
A gt A2l
o)
ArQf
Al KP140HS
A2ie W (mm) @32, @40, @50, ©63, @80, @100, B125
2| DAY 140kgf/cii (14.3MPa)
Lk 210kgf/ai (21.4MPa)
2| 2250t 3kgf/cr (0.31MPa)
N 8~100mm/sec
AE2E He -10 ~ 70T
AB2ER A2 S
LHARS AL Ks 23
Y5 Ext 0~+0.8mm
% 292 R2YE HI|IE 2AIZ 29 sHAIR.
=
STH
KP140HS el kg
EZY(SD) ZEH(LA)
WES === 28 g2C === 28 g2C ﬁ;ﬁébﬂ
AE23 AE23 AE23 AER23 T
e SR R M
¥32 |14 0.025 16 0.024 14 0.027 19 0.028 0.057
@40 18 0.030 21 0.032 18 0034 24 0.036 0.114
@50 | 25 0.037 27 0.036 26 0.044 33 0.048 0201
?63 | 38 0.047 4.1 0.041 41 0.062 50 0.068 0435
@80 | 66 0.067 7.6 0.083 - - - - 0.798
@100 |125 0.102 149 0.121 - - - - -
@125 |215 0.152 29 0222 - - - - -
KP140HS HL Che| - kg
EZH(SD) FEH(LA)
Hemac HE of2C Hemac Z=LEAF
w4 =S =S © =S _%__5}_?_}”
7| A2EZ231mm e AEZ231mm 7| A2EZ231mm
S| YRE™ = gortEE = YRE™
@32 |12 0.022 13 0.024 12 0.022 0.057
@40 |16 0.028 17 0.031 16 0.028 0.114
@50 | 22 0.036 24 0.041 23 0.036 0.201
63 | 33 0.049 37 0.057 36 0.049 0435
@80 | 62 0071 72 0.084 - - 0.0798
At e

Of]) KP140HS-SD40-S50
7|185Y: 1.8/ 37153 0.030
A2IE HF: 50mm
1.8+(0.030 X 50) = 3.3kg

www.kccpr.com



KCC Co., Ltd.

A O Al A2 (2) KP140HS series
3 s A2

7

Q

= E
He zg A 27 | s 2 % 2
1 TUBE SM45C 1 17 PISTON GC250 1
7 STEEL BALL suR2 2 21 SET SCREW SCM435 3
8 ROD COVER GC250 1 22 SHIM 3604 1
13 ROD SM45C 1
I 2|AE
W 3 1 12 16 20.1 204
gy  ORNOFOR ' pustseal | roppacking | ORING FOR i B.UR
a1 NBR NBR NBR NBR NBR PTFE
+3
s 1 1 1 1 1 1
32 1B-P26 LBH-18 USH-18 18-516 1B-P26 FOR P26
40 1B-G35 LBH-22 USH-22 1B-520 1B-P34 FOR P34
50 1B-G45 LBH-28 USH-28 1B-525 1B-P44 FOR P44
63 1B-G58 LBH-35 USH-35 1B-532 1B-P53 FOR P53
80 1B-G75 LBH-45 USH-45 1B-542 1B-P70 FOR P70
100 1B-G95 LBH-55 USH-55 1B-G40 1B-P90 FOR P90
125 1B-G120 LBH-70 USH-70 1B-G60 1B-P115 FORP115

www.kccpr.com

KP140H

KP210H

KPC70/140H

KPC210H

KTC70HP

KP140HS

HTC

KP125/160A

KP35R

KH

P - 79



KCC Co., Ltd.

AOAAES (F)

o

KP140HS series

KECS

3 e AR

=] 5| A _ — O = = = HISE IT =
Y| ,E-HIE AL EEY, S224YY £EH (SD, LA)
SDYH /LHE @32, @40, @50, @63, @80 LAY /W& @32, @40, @50, @63
2—AIR VENT 2-EE 2-AIR VENT = 55 SS+STROKE _SW
2—-EE
?q—: R /:{ E¥ 1@99/
é} > %
E@ é—ﬂ © {E'Q}Ziﬁ’ e |
Y PJ+STROKE | PL
FGB;BBT Y PJ+STROKE |PL|
A
== LEE o
i EB i
MM i
| & ) . ;
4—FB c D TX W|  TL+STROKE
FG DP BT | LL+STROKE T WF| " LL+STROKE
ZJ+STROKE ZJ+STROKE
£l mm
75 BT FB FG
Lz \I A 523 | LAY C D E EA EB EB HZ5 | LAY | B28 | AS KK LH LL
?32 15 | 65 | 86 7 16 | 062 | 70 56 |Rc(PM1/4| 968 | @9 @11 | @14 | M12x1.75 | 25%00 | 54
@40 20 8.6 10.8 7 19 070 80 64 |Rc(PT)1/4| @9 211 214 | @17.5 M16x2 29%0.06 55
@50 24 10.8 13 8 25 080 94 74 Rc(PT)1/4 @11 @14 | @17.5 | @20 M20x2.5 | 34%0-06 60
063 33 13 | 155 | 10 31 | 094 | 114 | 89 |Rc(PT)1/4| @14 | @16 | @20 | @23 M27x3 | 42%006 | @7
?80 33 15.2 18 14 41 0114 142 110 |Rc(PT)3/8| @16 ?18 @23 026 M30x3.5 | 528006 78
@100 45 215 - 20 50 145 - - Rc(PT)3/8| @22 - ?32 - M39x4.0 - 95
125 50 255 - 25 65 185 - - Rc(PT)1/2| @26 - ?39 - M42x4.5 - 105
£l mm
L\H;é\f \i MM N PJ PL SS SW T TL TS v W X WF Y Z)
@32 218 20 14 12 24 10 70 14 56 047 12 28 10 28 64
@40 @22 20 16 12 23 12 70 15 62 052 12 28 10 27 65
@50 @28 20 19 13 27 13 80 17 74 058 14 29 11 28 71
263 @35 20 21 13 32 15 100 20 90 069 16 31 13 33 80
280 @45 30 25 18 40 18 100 26 116 86 16 36 17 35 95
?100 @55 36 39 21 - - - - - 0105 - - 26 35 121
@125 @70 56 44 26 - - - - - 140 - - 31 35 136

¥ - 80

www.kccpr.com



E *ﬁ%{% f,:g (LE(? KP140HS series

3 e Azl

QYA E-HZE 2L BEY, 222YS ZEY (SD, LA)

SD¥ /W& @32, 940, @50, 63, @80 LAY /WA 032, @40, @50, 63 Fed
27 242

KP140H

KP210H

2-AIR_VENT 2-EE 2-AR VENT = 55  $S4+STROKE SW
2-EE
KPC70/140H
@
 — g KPC210H

Y PJ+STROKE PL KTC70HP

%T Y PJ+STROKE |PL
EA
TS KP140HS
NKK ) ) NKK
IS AL EERIELLEER L Bl
N 7 I ﬁN I ] H HTC
wi F—H ———1 | ® O el =t
, | H [TNCER/ | i
S — 3 AL == e L KP125/160A
4-FB AA_[C g B ™ TL+STROKE
v FG DP BT wrl B LL+STROKE T wr| B LL+STROKE
T
E ZJ+STROKE ZJ+STROKE KP35R
KH
Cel o mm
Wz 212 An E%_QBT (AS C D E EA EB EE B%QFB A E%%FG AS NKK LH LL
32 20 | 65 | 86 7 16 | 062 | 70 56 | Rc(PT)1/4 | 6.8 | @9 | @11 | @14 | M16x1.5 | 255700 | 54
@40 20 | 86 | 108 | 7 20 | O70 | 80 64 |Rc(P)1/4 | @9 | @11 | @14 | @17.5| M20x1.5 | 29*006 | 55
@50 35 | 108 | 13 8 25 | 080 | 94 74 | Rc(PT)1/4 | @11 | @14 | @17.5| @20 | M24x15 | 34%006 | go
263 35 13 | 155 9 31 | 094 | 114 | 89 |Rc(PT)1/4 | @14 | @16 | @20 | @23 | M30x1.5 | 42%006 | g7
@80 60 | 152 | 18 14 41 | 0114 ] 142 | 110 | Rc(PT)3/8| @16 | @18 | @23 | @26 | M39x1.5 | 52%006 | 78
?100 75 | 215 - 20 50 |O145| - - | Rc(PT)3/8 | @22 - 032 - M48x1.5 - 95
2125 95 | 255 - 25 65 | 0185 - - | Rc(PT)1/2 | 926 - 239 - M64x2.0 - 105
EHel :mm
LH\;.;\Z'\R MM N PJ PL SS SW T TL TS v W X WF Y Z)
32 218 20 14 12 24 10 70 14 56 047 12 28 10 28 64
240 @22 20 16 12 23 12 70 15 62 052 12 28 10 27 65
@50 ?28 20 19 13 27 13 80 17 74 058 14 29 1 28 71
263 ?35 20 21 13 32 15 100 20 90 069 16 31 13 33 80
280 @45 30 25 18 40 18 100 26 116 086 16 36 17 35 95
100 55 36 39 21 - - - - - 0105 - - 26 35 121
?125 70 56 44 26 - - - - - 0140 - - 31 35 136

www.kccpr.com - 81



KEC| K6 o, ld. KP140HS series

o

3 e AR

2|+ E-L2E AL BEY, S22 FEH (SD, LA)
SDY /W& @32, @40, @50, @63, @80 LAY /W& @32, 340, @50, 963
2-AIR_ VENT 2-EE
2-AIR_VENT

20, SS+STROKE 20

& &
{E*‘”ZDJ ] ﬁ’*ﬂ

/3

o1 P
e

E="os

N
R =

Y PJ+STROKE

Y |PU+STROKE| Y F‘G‘*DFE &
A
* T L ] 1]
—t— MMI MMI LR —— MM
777777 - c - C|
C 10| X TL+STROKE
LL+STROKE WF+ T WF] LL+STROKE WF+
STROKE STROKE
& mm
7 BT B e
Wz \' A FECINYYS C D E EA | EB EE 525 | (A9 | E2d | AW KK LH LL
?32 15 | 6.5 | 86 7 16 | 062 | 70 56 | Rc(PT)1/4 | ©6.8 29 211 @14 | M12x1.75 | 25%00 | 72
040 20 | 86 | 108 | 7 19 | O70 | 80 | 64 |Rc(PT)1/4| @9 211 ?14 | @175 | M16x2 | 29%006 | 72
?@50 24 | 108 | 13 8 25 | 080 | 94 | 74 |RcP)1/4| o1 @14 | @175 | ©20 | M20x2.5 | 34%00% | 75
?63 33 13 [ 155 ] 10 | 31 | @94 | 114 | 89 |Rc(PD1/4| @14 | @16 | @20 | @23 M27x3 | 42006 | g)
@80 33 [ 152 ] 18 | 14 | 41 [O114] 142 | 110 | Rc(PT)3/8 | @16 | @18 | @23 | @26 | M30x3.5 | 52%00% | 95
@100 45 | 215 - 20 | 50 |O145 - - | Re(PT)3/8 | @22 - @32 - M39x4.0 - 112
?125 50 | 255 | - 25 | 65 |O185 - - | Rc(PT)1/2 | @26 - @39 - M42x4.5 - 117
el mm
L\H;é\\j 1= MM N Py ss T TL TS Vv W 2P WF Y
@32 218 20 16 32 70 32 56 047 12 28 10 28
@40 022 20 18 32 70 32 62 052 12 28 10 27
@50 028 20 19 35 80 32 74 058 14 29 11 28
763 @35 20 16 42 100 35 90 069 16 31 13 33
@80 @45 30 25 55 100 43 116 086 16 36 17 35
3100 @55 36 42 - - - - 0105 - - 26 35
@125 @70 56 47 - - - - 0140 - - 31 35

- 82 www.kcepr.com



KCC Co., Ltd.

AOLALAYE S

(—.—

)

KP140HS series

2 ahy A2l

SD¥ /U& @32, 940, @50, @63, @80

2-AIR VENT 2-EE
R
P 4 ! ®
C " e—r $°_—1—13
= “H
Y PJ+STROKE | Y
YA 2-NKK e E—1 v
@ )
@:9% = =7 ]
. He—————
= e s ol _ld_aa
E WF| LL+STROKE WF+
STROKE
LAY /WHE @32, @40, @50, @63
27—/&\}? VENT 20 SS+STROKE 20
2—-EE
& 5%
e o
— 7 N A ¢
EA
TS _
U Y |PJ+STROKE| Y 7% DFE 5t
/{f‘s 2—NKK
L §/y lr_J [
LH B! :
MMI t g pak-—- MMl
o] i !
T AA e+ + d A
X W| TL+STROKE
WF]| LL+STROKE WF+
STROKE
Cel o mm
NG E$%4BTLA%4 C | D | E | EA | EB EE E$%4FB i E$%4FG i NKK LH LL
032 20 | 65 | 86 7 16 | 062 | 70 | 56 Rc(PT)1/4 6.8 ?9 ?11 @14 | M16x1.5 | 25%006 | 72
040 20 | 86 | 108 | 7 20 | O70| 80 | 64 | Rc(PD1/4| @9 211 @14 | 317.5 | M20x1.5 | 29006 | 72
@50 35 108 13 8 25 | 080 | 94 | 74 |Rc(PD1/4| oM @14 | @175 | ©20 | M24x15 | 3409 | 75
263 35 | 13 | 155| 9 31 | 094 | 114 | 89 Rc(PT)1/4 @14 | @16 | @20 | 923 | M30x1.5 | 42¥00 | g
280 60 | 152 | 18 14 | 41 'O114] 142 | 110 | Rc(PT)3/8 | @16 ?18 ?23 ?26 | M39x15 | 52%006 | 95
@100 75 | 215 - 20 | 50 |O145| - - | Re(PT)3/8 | 922 - @32 - M48x1.5 - 112
@125 95 | 255 | - 25 | 65 |0185] - - [ RcP)1/2| @26 - ?39 - M64x2.0 - 117
CHel - mm
LH\%\\ \; MM N PJ sS T TL TS v W > WF Y
@32 218 20 16 32 70 32 56 047 12 28 10 28
@40 @22 20 18 32 70 32 62 052 12 28 10 27
@50 28 20 19 35 80 32 74 058 14 29 11 28
?63 @35 20 16 42 100 35 90 069 16 31 13 33
@80 @45 30 25 55 100 43 116 086 16 36 17 35
@100 @55 36 42 - - - - 0105 - - 26 35
@125 @70 56 47 - - - - 0140 - - 31 35

www.kccpr.com

Fodzg

o
kJ

KP140H

KP210H

KPC70/140H

KPC210H

KTC70HP

KP140HS

HTC

KP125/160A

KP35R

KH




KEC| K6 o, ld. KP140HS series

Z g5 A2

o 2

=15 A =
QYR +E-HEE ZI AEZFYH (SD)
ALIAL/UE @32, @40, @50, @63, @80 ZLEAL /W @32, 940, @50, 963, @80
2-AIR VENT 2—EE
2—AIR VENT 2—EE
S R— = 4 ‘
NP 4 I D - gy iR
A N
L,‘,, »,,,, Y PJ+STROKE_|£L
=S - "
Y PJ+STROKE | PL
KK A NKK ) )
T SV A T
o T © © I AT
o] HOH [ =R —
= — CARER = — E—
4-FB C D 4—FB AA_IC S
FCOP BT wr LL+STROKE v FG DP BT wrlB LL+STROKE
ZJ+STROKE ZJ+STROKE
YA HHSHA
@32 =101~200mm @32 =101~200mm
@40,050,063,080 = 101~250mn @40,050,063,080 = 101~250mm
£t mm
'-\H;é‘7l§ HE A | AA | BT C D E EE FB KK LL| N | PJ | PL | MM NKK OTVIWF| Y | ZJ
@32 101~200 | 15 | 20 | 12 7 16 |62 Rc(PT)1/4 | M6xP1.0 | M12xP1.75 72|20 | 16 | 28 |@18| M16xP1.5 | 47 | 10|28 |82
@40 101~250 | 20 | 20 | 16 7 20 | OJ70| Rc(PT)1/4 | M8xP1.25 | M16xP2.0 | 72 | 20 | 18 | 27 |@22| M20xP1.5 | 52 | 10|27 | 82
@50 101~250 | 24 | 35 | 20 8 25 080 Rc(PT)1/4 | M10xP1.5 | M20xP2.5 | 75|20 | 19 | 28 |@28| M24xP1.5 | 58 | 11|28 86
263 101~250 | 33 | 35 | 24 | 9 31 (094 Rc(PT)1/4 | M12xP1.75 | M27xP3.0 | 82 | 20 | 16 | 33 |@35| M30xP1.5 | 69 | 13|33 |95
@80 101~250 | 33 | 60 | 28 | 14 | 41 |O0114| Rc(PT)3/8 | M14xP2.0 | M30xP3.5 | 95 | 30 | 25 | 35 | @45 M39xP1.5 | 86 | 17 |35 112

84 www.kccpr.com



